

## A NOTE ON LATTICE DISTRIBUTIONS ON THE TORUS †

CHONG JIN PARK<sup>1</sup> AND KYU SEOK LEE<sup>2</sup>

### ABSTRACT

In the recent papers by Harris and Park (1994) and by Hui and Park (2000), a family of lattice distributions derived from a sum of independent identically distributed random variables is examined. In this paper we generalize a result of Hui and Park (2000) on lattice distributions on the torus using the Poisson summation formula.

*AMS 2000 subject classifications.* Primary 62E10; Secondary 62E15.

*Keywords.* Lattice distributions, Fourier transform on torus, Poisson summation formula.

### 1. INTRODUCTION AND THE MAIN THEOREMS

In a recent paper by Hui and Park (2000), they examine a family of lattice distribution derived from a sum of independent identically distributed random variables having a probability density function of the form

$$f(x) = \sum_{j=-\infty}^{\infty} a_j \chi_{I_j}(x),$$

where  $\{I_j\}_{j=-\infty}^{\infty}$  is a uniform partition of  $\mathbf{R}$  with  $|I_j| = |I|$ ,  $a_j \geq 0$  for each  $j$ , and  $\sum_{j=-\infty}^{\infty} a_j = |I|^{-1}$ .

This paper extends the result of Hui and Park (2000) to a family of lattice distribution on the torus. More specifically, let  $T_{m+1}$  denotes the sum of  $m + 1$  independent random vectors having a probability density function of the form

$$g(\mathbf{x}) = \sum_{\mathbf{k} \in \mathbf{Z}^n} h_{\mathbf{k}} \chi_{Q_{\mathbf{k}}}(\mathbf{x}), \quad \mathbf{x} \in \mathbf{R}^n, \quad (1.1)$$

---

Received July 2002; accepted October 2002.

†Work completed while the first author was visiting the Statistical Research Center for Complex Systems at Seoul National University in Korea.

<sup>1</sup>Department of Mathematical and Computer Sciences, San Diego State University, San Diego, CA 92182-7720, U.S.A.

<sup>2</sup>Department of Statistics, Seoul National University, Seoul 151-747, Korea

where

$$\sum_{\mathbf{k} \in \mathbf{Z}^n} h_{\mathbf{k}} = |H|^{-n}, \quad Q_{\mathbf{k}} = \prod_{j=1}^n [\alpha + k_j |H|, \alpha + (k_j + 1)|H|],$$

for  $\mathbf{k} = (k_1, k_2, \dots, k_n) \in \mathbf{Z}^n$ ,  $|Q_{\mathbf{k}}| = |H|^n$ .

Define a lattice distribution,  $g_{m+1}$  on the torus derived from the probability density function  $g_{T_{m+1}}$  by

$$\begin{aligned} g_{m+1}(\mathbf{x}) &= g_{T_{m+1}}(\mathbf{x}), \quad \text{for } \mathbf{x} = (\alpha + \delta_1 + k_1|H|, \dots, \alpha + \delta_n + k_n|H|), \\ &= 0, \quad \text{otherwise.} \end{aligned} \quad (1.2)$$

**THEOREM 1.1.** For  $0 \leq \delta_i < |H|$ ,  $i = 1, 2, \dots, n$ ,

$$\sum_{\mathbf{k} \in \mathbf{Z}^n} g_{m+1}(\alpha + \delta_1 + k_1|H|, \dots, \alpha + \delta_n + k_n|H|) = |H|^{-n}.$$

**THEOREM 1.2.** Let  $W_{m+1, \delta}$  be a random vector having the lattice distribution  $g_{m+1}$  on the torus. For  $0 \leq \delta_i < |H|$ ,  $i = 1, 2, \dots, n$  and  $l_1, l_2, \dots, l_n$  such that  $\sum_{j=1}^n l_j = L \leq m$ ,

$$\mathbf{E} [W_{m+1, \delta}^L] = \mathbf{E} [T_{m+1}^L],$$

where

$$W_{m+1, \delta}^L = W_1^{l_1} W_2^{l_2} \dots W_n^{l_n} \quad \text{and} \quad T_{m+1}^L = T_1^{l_1} T_2^{l_2} \dots T_n^{l_n}.$$

## 2. PROOFS OF THE THEOREMS

Let

$$\hat{g}_{T_{m+1}}(\mathbf{s}) = \int_{\mathbf{R}^n} g_{T_{m+1}}(\mathbf{t}) e^{-2\pi i \mathbf{s} \cdot \mathbf{t}} d\mathbf{t} \quad (2.1)$$

be the Fourier transform of  $g_{T_{m+1}}$ , where  $\mathbf{s} \cdot \mathbf{t} = \sum_{j=1}^n s_j t_j$ .

**PROOF OF THEOREM 1.1.** We apply the Poisson summation formula (see for example Folland, 1984) to  $g_{T_{m+1}}$  and obtain the following result:

$$\sum_{\mathbf{k} \in \mathbf{Z}^n} g_{m+1}(\delta + \mathbf{k}|H|) = \frac{1}{|H|^n} \sum_{\mathbf{k} \in \mathbf{Z}^n} \hat{g}_{T_{m+1}} \left( \frac{\mathbf{k}}{|H|} \right) e^{2\pi i \mathbf{k} \cdot \delta / |H|}$$

where  $\delta = (\delta_1, \dots, \delta_n)$  and  $\mathbf{k} = (k_1, \dots, k_n)$ . Since  $g_{T_{m+1}}$  is  $(m+1)$ -fold convolution of  $g$  given in (1.1), we have  $\hat{g}_{T_{m+1}} = \hat{g}^{m+1}$ . The Fourier transform of  $g$  can be written as

$$\hat{g}(\mathbf{s}) = \sum_{\mathbf{k} \in \mathbf{Z}^n} h_{\mathbf{k}} \prod_{j=1}^n e^{2\pi i s_j \delta_j} \left[ \frac{e^{-2\pi i k_j |H| s_j} - e^{-2\pi i (k_j+1) |H| s_j}}{2\pi i s_j} \right]. \quad (2.2)$$

for  $\mathbf{s} \neq \mathbf{0}$  and  $\hat{g}(\mathbf{0}) = 1$ . We observe that

$$\hat{g}_{T_{m+1}} \left( \frac{\mathbf{k}}{|H|} \right) = \hat{g}^{m+1} \left( \frac{\mathbf{k}}{|H|} \right) = 0, \quad \mathbf{k} \neq \mathbf{0}$$

and  $\hat{g}_{T_{m+1}}(\mathbf{0}) = 1$ , because  $e^{-2\pi i j} = 1$  for all integer  $j$ . The proof of Theorem 1.1 is complete.  $\square$

**PROOF OF THEOREM 1.2.** We apply the Poisson summation formula to  $g_{T_{m+1}}(\mathbf{t})e^{-2\pi i \mathbf{s} \cdot \mathbf{t}}$  to obtain

$$\begin{aligned} & \sum_{\mathbf{k} \in \mathbf{Z}^n} g_{m+1}(\delta + \mathbf{k}|H|) e^{-2\pi i \mathbf{s} \cdot (\delta + \mathbf{k}|H|)} \\ &= \frac{1}{|H|^n} \sum_{\mathbf{k} \in \mathbf{Z}^n} \hat{g}_{T_{m+1}} \left( \mathbf{s} + \frac{\mathbf{k}}{|H|} \right) e^{2\pi i \mathbf{k} \cdot \delta / |H|}. \end{aligned} \quad (2.3)$$

Let  $\hat{g}_{T_{m+1}}^{(L)}(\mathbf{s}) = \partial^L \hat{g}_{T_{m+1}}(\mathbf{s}) / (\partial s_1^{l_1} \cdots \partial s_n^{l_n})$ , where  $l_1 + \cdots + l_n = L$  and  $l_i \geq 0$  for  $i = 1, \dots, n$ , be the  $L^{\text{th}}$  derivative of  $\hat{g}_{T_{m+1}}(\mathbf{s})$ . Since  $\hat{g}_{T_{m+1}} = \hat{g}^{m+1}$  and  $\hat{g}(\mathbf{k}|H|^{-1}) = 0$  for  $\mathbf{k} \neq \mathbf{0}$  by (2.2), it follows that  $\hat{g}_{T_{m+1}}^{(L)}(\mathbf{k}|H|^{-1}) = 0$  for  $\mathbf{k} \neq \mathbf{0}$  and  $L \leq m$ . Now differentiate (2.3) with respect to  $\mathbf{s}$  and evaluate it at  $\mathbf{s} = \mathbf{0}$  to obtain

$$(-2\pi i)^L \sum_{\mathbf{k} \in \mathbf{Z}^n} \prod_{j=1}^n (\delta_j + k_j |H|)^{l_j} g_{m+1}(\delta + \mathbf{k}|H|) = \frac{1}{|H|^n} \hat{g}_{T_{m+1}}^{(L)}(\mathbf{0}),$$

which is a constant independent of  $\delta$ . Furthermore, for  $l_1, \dots, l_n$  such that  $l_i \geq 0$  and  $\sum_{j=1}^n l_j = L \leq m$ , we have

$$\begin{aligned} \frac{1}{(-2\pi i)^L} \hat{g}_{T_{m+1}}^{(L)}(\mathbf{0}) &= \mathbf{E}(T_{m+1}^L) \\ &= \sum_{\mathbf{k} \in \mathbf{Z}^n} (\delta + \mathbf{k}|H|)^L \cdot g_{m+1}(\delta + \mathbf{k}|H|) \cdot |H|^n \\ &= \mathbf{E}(W_{m+1, \delta}^L). \end{aligned}$$

This completes the proof of Theorem 1.2.  $\square$

## REFERENCES

- DYM, H. AND MCKEAN, H. P. (1972). *Fourier Series and Integrals*, Academic Press, New York.
- FOLLAND, G. B. (1984). *Real Analysis : Modern Techniques and Their Applications*, John Wiley & Sons, New York.
- HARRIS, B. AND PARK, C. J. (1994). "A generalization of the Eulerian numbers with a probabilistic application", *Statistics & Probability Letters*, **20**, 37–47.
- HUI, S. AND PARK, C. J. (2000). "A note on a family of lattice distributions", *Journal of the Korean Statistical Society*, **29**, 315–318.